http://www.makaut.com

Invigilator's Signature : .........cccviviiiiiiiiiiiiiiiiiniiieinene,
CS/BBA(H)/SUPPLE /SEM-5/BBA-506/2010
2010
TRANSPORT MANAGEMENT

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full mariks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for the following :
10x 1 =10

i) Transportation has a major role to play an important

role in economic development since
a) widens the market
b) creates employment
c) gives a boost to agriculture, number of industries
d) all of these.
ii) Land transport consists of
a) pathways, gateways, raft, tramways
b) pathways, roadways, railways, tramways
c) roadways, tramways hovercrafts, pathways,

d) pathways, railways, ropeways, bullock carts.
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iii)

iv)

V)
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Indian Railways is ................

COVEring ................ kms. T
a) b5th, around 63,000 kms
b) 2nd, around 62,000 kms
¢) 3rd, around 61,000 kms
d) 4th, around 62,500 kms.

Multimodal transport is a transport under the cover of
one document ( MTD ). This definition of Multimodal

Transport is given by

a) MTDA
b) AAI
c¢) UNCTAD

d) U.S. transport authority.

The main co-ordinating and policy implementing
authority for Roadways in particular Highways

development in India is

a) SRTA b) NRTA

c) NHAI d) RDAIL



vi)

vii)

viii)
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Railways has two types of rates they are
a) 1st rate and 2nd rate
b) Owner's risk and Railway risk rate
c) 1st class and 2nd class rates

d) none of these.

The cheapest mode of transport especially in case of

movements of bulky and heavy goods is
a) water trasport

b) tramways

c) railways

d) all of these.

In the import/acquisition of used Aircrafts the

maximum age of the crafts usage allowable is
a) 20 years of foreign use

b) 15 years in case of pressurized and 20 years in

case of non-pressurized

c) 20 years in case of pressurized and 15 in case of

non-pressurized

d) old aircrafts as rule are not allowed to be imported.
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ix) The concept of Just-in-time delivery is poss

case of

a) road transport

b) rail transport

c) multimodal transport

d) j.i.t. delivery not possible.
X) 3PL is a form of

a) rail transport logistics

b) outsourced form of logistics handling management

c) transportation done by contract of three logistics

provider

d) none of these.

GROUP - B
( Short Answer Type Questions )
Answer any three of the following. 3x5=15
2. "Transport development is the bedrock of economic

development." Do you agree ?

3. What are the characteristics of a transport system ?

4. What do you understand by the terms landslide and airside,

ramp, AAI and DGCA with respect to air transport ?

SE-12 4



WESTY BERGAS
|t i 1Y (S ey e

CS/BBA(H)/Supply/SEM-5/BBA} /2310

5. What are the methods by which transport infra

be developed in public private partnership -‘?-LOn W ich basis

is set up and operation of four-laning of exisﬁng highways

envisaged ?
6. Write short notes on the following :
a) Railway receipt
b) Forwarding or consignment note.

7. What are the limitations of inland water transport ?

GROUP - C
( Long Answer Type Questions )
Answer any three of the following. 3 x 15 =45

8. a) Development of transport infrastructure has received
major hrust since the first planning period. Outline very
briefly the emphasis placed by the govt. for transport

infrastructure developments through the five year plans.

b) What are the considerations for selecting a mode of

transport ? 8+7
9. a) What are the functions of IWAI ?

b) Define the terms 'jettison', 'demurrage' and 'Charter
Party'. 9+6

10. a) What are the commercial and economic aspects of road

transport ?
b)  Write short notes on the following :

Golden Quadrilateral & NHDP projects. 10+ 5
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11. a)
b)
c)
12. a)
b)
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What is the role played by railways in deyvelopm or

otherwise in respect of agriculture and /industry ?—=1—
Differentiate between railway receipt and bill of lading.

What are barges and liners ? How many types of liners

are there ? 6+4+5

A contract was entered into between X & Co. (Kolkata)
and MTD & Co. ( a multimodal transport operator )

( Kolkata ) for transfer of goods from office premise to
the customer's place C & Co. ( New Delhi ). The
transport entails movement vide different modes of

transport. It contained the following details.

X & Co., C & Co., Rubber, 40 Bags-WT 2000 KG,
New Delhi ( destination ), Kolkata 28-08-09, Kolkata,
Freight paid Rs. 2,500 and

Signature of authorised signatory X & Co.

From the above details comment on the information

contained

In the transport document also enlist the information

required
To be furnished in multimodal transport document.

What are meant by the terms Ballasting, tramps and

tankers ? 9+6



13. a)

b)
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concept ? T T

What are the roles of outsourcing in transportation &
logistics industry ? How does outsourcing benefit

transportation industry ? 7+ 8
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